Q.P. Code : 28885

[Time: 2 Hours] [ Total Marks:60]

Please check whether you have got the right question paper.

N.B: 1. All questions are Compulsory.

2. Each questions carries 15 marks.
3. Draw neat diagram wherever necessary.

Answer any two of the following.
a) Bring out the important production relationships in Agriculture.
b) Examine the rationale for Government intervention for price
support.
c) Explain the concept of Buffer stock what is its role?

Answer any two of the following.
a) What do you understand by credit fragmentation?
b) Examine the role of commercial bank in rural credit.
¢) Evaluate the performance of SHGs & RRBs in rural credit.

Answer any two of the following.
a) Define work, skill & Productivity.

b) Explain various methods of measurement of employment &
unemployment.
¢) What is labour market segmentation.

Answer any two of the following.
a) Explain the concept of lease market and its features.
b) Discuss the effects of inequality in distribution of land holdings.
¢) Which are the various crop sharing practices in India?
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